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Directions : There are in all 26 questions in this question paper. All.guiestions are

(if)

(iii)

(iv)

(v)

(vi)

compulisory.

et 2 FeiRa sic 370 TwI sifcd &1

Marks alloted to the questions are mentioned against them.

TRIG U9 B LTS Ufed T FHd TR alfSe|

Read each question carefully and answer to'the point.

e T 1 SEfEr e &1 39 9e & I WP 3 3R A TR faeed fad
| w8 e 3T TRy # oRaw | yem 2 3 5 ae fiaa 3ok 7 €
Question No.1 is multiple choice ‘question. Four options are given in
answer of each part of this question. Write correct option in your answer
book. Question No. 2 to 5 are definite answer type questions.

o T 1 BT TS WL TP 3BT & | U T 2 § 5 0B U 3P b
&) o TV 6 3 15 . & 36 b W &1 W FEA 16 § 23 T dIH 3 &
o7 | o ST 24 ¥ 26 b O 31 & e &, T we e 26 B/
arena v gl

Each part of Question No. 1 carries one mark. Question Ne. 2 to 5 are
of one mark each. Question No. 6 to 15 are of two marks each. Question
No. 16 to 23 areof three marks each. Question No. 24 to 26 are of
four marks each, in which Question No. 26 is Case/Source based
question:

=g Yo T Y R IS aded el & qenfy siud g saRe fawed gar
fpar T 2| O T § hact U abed BT & IR Aot

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the

given choices in such guestions.
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1. (&) T ey Fete & 1
Fat soluble vitamin is -

() Fefma ) fefme a6 feffmc (v) = e

Vitamin A Vitamin B Vitamin C None of these
(@) K,[Fe(CN),] ¥ 'Fe' ol u=iEwidlsM &1 & - 1
The Coordination Number of “Fel in K, [Fe(CN ) T 95 =
(y 4 @) 5 (i} 6 (iv) 8
() e 3 s e (we) @ e 8 1
Which of the following has no unit?
(i) AR (i) BIeTear (iii) srear (iVIETE TgTS
Molarity Molality Normality Mclar Fracticon
(7) UePETe 3R HEi 3net & aYa Siffthar dEan © - 1
The reaction between Aicohol and Carboxylic Acid is.called -
(i) UeaRoT Jiian (i) Serara sfdfear
Esterification Reaction Neutralization Reaction
(iif)  DRmEENEROT 3T (V). ST TS T
Acylation Reaction None of these
(%) v e o sififear & fav a0 feRis & 3o & 7 - 1
The unit of rate censtant for a first order reaction is -
(i) .= (i) 9.1 (i) AT @Y (v) FE F@LE
ESsea ! Mol c *secety Mol! L-Sec!
(@) foga sucy e 3t argdar PR aRal ¢ - 1
Conductivity of an Elegtrolytic soluticn depends on -
() e soaea & pla W (i) AC W Bt ARs R
Nature of electrolyte Power of AC Source
(iii) s B WET BT T W (iv) BoaRIel & Yo &Fhel IR
Distance between the electrodes Surface area of electrodes

() e, 5 Meger damee Geemor gRT S99/ 51 FadT B-
Aminethat can be prepared by Gabrial Phthalimide synthesis-
() WS (i) feos (i) IATD - (iv) 59 IS &

Primary Secondary Tertiary None of these

ks
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(51) frsier AlC), &Y 3urefer #, 2Reser 2oz @ S & T 3R TEAR & 1

The reaction of Alkyl Halides with Benzene, in presence of anhydrous AICI,

is called-
géar arrfan (if) TR AT
Wurtz Reaction Clemensen Reduction
iy fipsa e arfdfesan (iv) e st
Friedel Crafts Reaction Kolbe's Reaction

B : Yo TRET-1 % 37T a1 WUEl ¥, a1 ] @ TG (A) AT BRON(R) B
w0 3 Fifee far mar 2| SrefiRas Faat (1), (i), (i) T (V) F R
2eh1 TR I AIfoTe |

Direction : In next two parts of Question No.-1, there are two statements labelled
as Assertion (A) and Reason (R). From the foliowing options (i), (i),
(iii) and (iv), select their correct answer.

() AT R & & T R, A F TE AR AR
Both A and R are correct and R is the correct explanation of A.
(i) ATUT RS R F IR R, A B TE @R T Bl g
Both A and R are correct but R is netsthe correct explanation of A.
(i) AR & U= R e &
A is correct but R is incorrect.
(iv) AT R ZM TEd 2
Both A and R are incorrect.
(7) 3@ (A) ¢ d 3R f Sieeae TN 3maT & E
WRIT (R) ;& deal. 1 igitad gomg 3uRed B § 1
Assertion (A): The elements of d and f blocks produce coloured ions.
Reason (R) : Unpaired electrons are present in these elements.
(37) IR (A) o Grifteee sk Sefteas ShERy sl 34 2
HRIT (R) : mng@jﬂmwmﬁs 1

Assertion (A): Formaldihyde and Benzzldihyde exhibit Cannizzaro

1IN

Reaction.
Reason (R} & a-Hydrogen atorms are present in them.
Write.down.the formula of Molarity. !
3, iefae A fow soiaers W affaieer aifiiihar gl 6? 1

Inmwhichhelectrode of a Galvanic cell, oxidation reaction takes place?
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4. 3UEEEAIST Atfiies [Cu(NH,),]S0, BT IUPAC ¥ Sarsd | 1
Give the IUPAC name of coordination compound [Cu(NH,),]1SO,

5. Tl c o oM I B aren I fefae| 1
Write down the disease caused by deficiency of Vitamin C.

6. fdeTes 3T a1 €7 B ot B o7

What are Nucleic acids? Write their biological functions.

7. 309 &7 FEAEIE 353.23 K 2l 1.80 g Erweie faelg @ 90 g §5iF HOET W

FIUHTE TeB 354.11 K 81 1l 2| focka &1 HieR geam S BiRa | detg s o
K,=2.53 K Kg mol . 2
The boiling point of benzene is 353.23 K. On dissolving 4.80 g non-volatile
solute in benzene's 90 g, the boiling point rises to 354.11 K. Find out the molar

mass of the solute. For Benzene, K =2.53 K Kg mol 4

J

4

|

3Uai/OR
FrefoRaa o Twem=a - 1x2=2
Explain the following -
() ORTERUT &g (T) /3136 & am
Osmotic Pressure Raoult's Law
8. (@) [Fe (CN).]°H Fe @I 3ifaeiioxvl ¥l @it? 1
What is the oxidation number of Feuin [Fe{CN) .17 7?
(W) @NUE B UH 3ETE<0T Iied THSe! 1

Explain legand with an example.

9. g e § Cuv?(aq) 3 & TG 3Tl B TOHT HISEI (Cu BT WA
HHB=29) 2
Calculate the magnetic moment of'Cu*?(aqg) ion in agueous solutior. (Atomic
Number of Cu=29).

3adi/OR
AOFTEEd 3R YA EE B 3R U BiloTe |
Differentiate between Lanthanides and Actinides.

10. T EIZSIST SoidR s BT AMifed o §18T| 39 W 8 arell e JiHichar &
Tave ffae| 2
Draw a labelled diagram of Standard Hydrogen Electrode. Write the eguation of
chemical reaction taking place on it.

11. FrafoRed § Q006 ®F U6-U6 3eTER0T Aied THHATST - 1x880
Explain each of following with an example -

(B) Prige oA il
Carbyl Amine Reaction’

(3G). ETEVSNHROT HATH BT
Diazotisation Reaction
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14,

15:

b
~d

e e & o0 7 gaaes fava 1.1 v 2| ﬁmﬁ%ﬁﬁ:&ﬁmés%vm%ﬁ
331 @1 uReer FIfSEl (F=96487 € mol) 2
Standard electrode potential for a Daniel cell is 1.1 V. Calculate the standard
Gibbs energy for the following reaction. (F=96487 C molt)

Zn(s) + Cu*?(ag) — Zn*%(aq) + Cu(s)

L i @ B 2k afifsar 3 U B Ue-U QT8R0T Aied HHEEe | 2
(=

Explain the order of reaction and molecularity of reaction, each with an exampie.
SrfeRaa s sfifsan @ feonfafer foRae-
Write down the mechanism of following SN! reaction-
CH,Ci + KOH(aq) —» CH,OH + KClI
BT AfTe- 1%x2=2
Give reason-
(@) et deprETe B e § fAte siftre swend €| d4i?

Phenol is more acidic in comparison to Ethyl Aicohol. Why?
(@) R 7@ § on fier e O H,50, ¥ st e ahgal?

Ether is less soluble in water but more soluble in. concentrate H,SO,. Why?
RrrfRaa At sfifisostt @1 qof ifs 3k 5% 3eTe BT IUPAC T ferfiae-

1x3=3

Complete the following chemical reaction andwrite the IUPAC name of the main

1]

product -
(%) CgHs -Br+Mg - SR (Ether) |
P (Heat)
(zg) CH3-CH=CH; + HBr By NG,
j (Peroxide)
(m CHz— C{:H — CHE™ KOW(aq)——>
Br
ﬁéw—***‘,md’ﬂ@ gqﬁqiasai :B:QIé 33 Sﬂ%iﬂ’q"l;ﬂ?ﬁ@ WE&' Qd‘qd’? Em!ékﬁ‘?ﬁﬁ«%{

Dist‘mguish primary, secondary and tertiary alcohols on the basis of
dehydrogenation products.

“3Er/OR
e afed=i & o T e fafae- 1x3=3
Write chemical equations for the following conversions—
&) B I a9 (W) T ) I 9 0OETE () CEE A g
Benzene from Phenol Ethanol from Sugarcane Ether from Ethano!
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18.

19

A s

3
s

u %ﬁ%&ﬂmaﬁﬁw@wﬁﬁ@ﬁw&ﬂqmm et 3 = e

SrafareEd ﬂﬁ%%ﬂéﬁ@gﬁwﬁa‘f@?ﬁﬁ 298 oK TR & & e (g 9ES 5T
1 BNy =271V 3

Write Nernst's equation for the following cell and find out the emf (electro motive

corce) of the cell at 298 oK. (B2, =2.71V)
Mgé;s}-\Mg*Z(@!QQlM)i \Cu'*i(OEOODlM‘) |Cu(s)

: 31219l /OR
S e et B A hﬁﬁ%ﬁmﬁ?ﬂmwﬁﬁﬁwﬁﬂmﬁﬁ e
3 e e
Describe the Lead Accumulator Cell with |abelled diagram and Wiite the equation
of chernical reactions taking place in it.
e ST B TR 2% SoEEEaE e [Pt(NA,)(BR(EN(PY)] % T
wﬁ%ﬁwm%%ﬁ'mﬁmﬁm%mm?ﬂ " 3

bo il

Explain Optical isomerism, and write all the geometrical isomers of coordination
compound {Pte;NHB)(\Br')(C;\)(Py)]. How many of them are optical jsomers?
RIG

R
TP €, A (Fe(EN), )5S

) O

e 25 [Fe(H, 01" Foe TS
Explain, [Fe(Hzei})s}*"3 is strond paramagnetic while [Fe(CNJ, 2 e

paramagmet‘ac;
fjfaﬁ‘ﬁﬁﬂ@%ﬁ?ﬁ%@ﬂ— 1x3=3
Write short notes on the following ~

(@) &Qa%ﬁi IR (@) o &l %3@5!@33&[ () EEH

Reducing sugar Denaturation of proteins Enzymes

Complete the following chamical equations and write the names of their main

products- 1%3=3
MH>
ﬁfg NaNQ, +HC
(@) | X N O, il
E%‘ y = 50C
%0NH2
(@) § Y| iBr> +KOH ——% R SO e
(alc)
4+
E\lENCl
() @ cuonjkeng ety
Y A £
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22, (%) & @ Frow ferfRau| 1

State Henry's Law.

(@) TR et | g s g? 1
What is meant by isotonic solutions?
() g g oIS T €7 1
What is Van't Hoff Factor?
>3, T EaT & 579 (Paet TEafe TR [Rae) - 1x3=3

What happens when (write chemical equation only) -
Sodium acetate reacts with Soda-lime

() wiifeeEs & R smfa 3 2l 2l
Formaldehyde reacts with Ammonia

() 2o, cs, @ Fuiufy 3 Wit aeRmgs 3 o o &l

Toluene reacts with Chromyl chloride in presence of CS,.

312di/OR
CReer, 0 vd oS o 3 9 sdis $ & 39T el | 3
Write two uses each of Aldehydes, Ketones and.Carboxylic Acids.

i

24, (@) TSI B el & e G 3 WEIGRONS! et il
Derive the integrated rate equation for the zero order reaction.
(@) T Tom S @ atifEar & aredemy 1.26 X102 9. 21 FHE! 9 RRRTE K F1T
Fifom! 1
The half life period of a first order teaction is 1.26x 1013 sec. Find out its

rate constant K.

3Y4ai/OR

() TR stk & 4T 5 THE SeF a1 SR® & 3o it
Mention the factors that affect the rate of a chemical reaction.
) wer N o i & v dw Rerid 60 I &1 SRIGRS B 31! FRRS €
% 1/16 of URT AY.LET A A FHG @ 2
The rate constant for 2 first order reaction is 60 s*. How much time the

-~

reactant will take'to be remain 1/16th part of its original concentration:

>5. v et A (Al TS SR C,H0 &, araEsit sftfiar & @ o s
18] =rar &1 i (B8], 9 & Tl & W T &R W UGS [C] # ged AT 21 9

[C] % a1 TFLH,SO, T TRAIR® Wethe ¥ BRaM W AN [D] A A €,

v T oEar dar 2 oifie [A] D At [D] a6 W & A fofRa AR uEw

An orgianic compound [A], with molecular formula C,H.O gives lodoform reaction

and formecompound [B]. Compound [B], on heating with silver powder, changes

into compound [C]. Compound [C], on reacting with dil.H,S0, and Mercuric

ro
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sulphate, produces compound [D], which gives Aldol condensation reaction.
Name all the compounds from [A] to [D] and write chemical equation for each

step.

JAUdr/OR
FerifeRae Yrmafie afiifianait # e are yee Jeel & W forhan sik weie st
& fore Tromate TR forae- xd4=4

Name the main products formed in following chemical reactions and write the
chemical equation for each reaction-
) Bifde 3, Sier s & a1 fgsan oxar &

Formic acid reacts with Tollen's reagent.
(@) e B ok ot & ey T o) 8

Acetone is heated with bleaching powder.
(1) FSEE FARISS, Pd/BasO, B 3ufRifa A aegis W fpat o 2

Benzoyle chloride reacts with hydrogen in presence of Pd/BaSQO,

v arer @ P,0, B AT TH A &

Acetic acid is heated with PO,

26. ﬁﬁ@aw@#ﬁ%ﬁa&ny@%ﬂ%wqﬂéwmﬁ?

Read the following passage carefully and answer the guestions given below -

FTad TRUN & d-aih ¥ g1 3 ¥ I 12 B deg I 21 570! Ul o W Ped 2
3R 5 3 s U p T6 & d@l & Hed B PULENAE | 375 3ifcH a1 S1E BEP! B
FAACI® [T (n-1) di-10 ns' 2§ (n-1)d T ns HETDI DI FHa13l H T8 BH H=<R
A gl sﬂ%@@@?@ Cr, Cu 3711%)  SIAIE G ns BED & NI, (n-1)d BED
A 99 B €| ¥ FOR [ E&ﬂﬁrﬁ:ﬂqﬁuﬁ geae A1 B! TeeT ST &l Sl
3R Hers, st wnfae I a=d &l

The d-block of periodic table contains the elements of group 3 to group 12.
These are also called transition elements as they exhibit the properties in between
the properties of s and p block-elements. The electronic configuration of their
last twe outermost orbitals is (n-1) d*-!® ns' 2, There is a very less difference in
energies of (n-1)d and ns orbitals. So in few elements (Cr, Cu etc.), the eiectrons
from ns orbital enter.into{n=1)d orbital. Thats why the total number of unpaired
electrons in different orbitals becomes maximum and the orbitals aquire more

g 4

stability.

() THHUT T DIF.E° SAP! THHY dcd FIT Hal F1aT 27 1
Which are transition elements? Why these are called transition elements?

(W) PIFTGR (Cr) T BIR (Cu) FT sHae - fa=am foaRae | 0

Write down the electronic configuration of Chromium (Cr) and Copper (Cu).
(T1)" d-=ich b peTd! | it wnfea Tl g &2 1

Why d-block orbitals acquire more stability?
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